m 990 ADVENTURE WHITE ABS 12 <2012><EU><9803L6>

INSTRUMENTS / LOCK SYSTEM
9777

ACHTUNG !!!

Zum Anlernen des

B EWS-Steuergerats
sind ein roter und

mindestens ein schwarzer

Ziindschlissel erforderlich.

CAUTION !!!

' To program the

ICU control unit, one
red and at least one black
ignition keys are required.

@

Pos Part Number Description Additional Text Quantity
1 60114169200 SPEEDOMETER 10 1.00
3 60114070200 INSTRUMENTS COVER ABS 09 1.00
5 58214069051 rubber grommet 16x10.8x3 3.00
6 0021050003 washer DIN 9021 A - 5.3 3.00
7 0081045121 SCREW FOR PLASTIC K45X12 T20 3.00
8 0024060106 HH COLLAR SCREW M6X10 TX30 3.00
10 54603048100 clip nut M6 2.00
11 60114010000 COCKPIT SUPPORT 06 1.00
12 54310086200 Self locking nut M8 10.9 2.00
13 0025080456 HH collar screw M8x45 TX40 2.00




17 60111066044 LOCK SYSTEM 990 ADV. 09 1.00
18 60111066000 IGNITION LOCK 1.00
19 60111066050 INSERT IGNITION LOCK 1.00
20 60011064000 TAMPERPROOF SCREW F. IGN. LOCK 2.00
22 60114010070 EDGE PROTECTOR 14X9,5X66 MM 06 4.00
24 60103001166 SUPPORT ROLLOVER SENSOR 06 1.00
25 0025060106 HH collar screw M6x10 TX30 2.00
26 60111042100 SOCKET 1.00
27 62611021000 IMMOBILIZER 990SM W. MASTERKEY 1.00
28 60107050000 SEAT LOCK 1.00
29 60007108000 TANK PLUG 2.00
30 62611067000 KEY WITH TRANSPONDER 1.00




